N
In/_r
=
N
o
o
[To]
©
4
©
[¢)]
2
[0}
e
ke
—_
[0}
o
/2]
[77]
[0}
=

Standort:

682534/143983 [8.51267°E/46.44210°N]

1900 m 4. M.

Niederschlage hydrologisches Jahr
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Gleitende Mittel der Niederschlage

3500

3000 —

2500 —

2000 —

1500 —

1000 —

[ww] BejyosiapaiN

500 —

0

¢c/leoc

61/8L0¢C

91/510¢

€1/¢10¢

01/600¢

20/900¢

¥#0/€00¢

10/000¢

86/.66)

G6/¥661

¢6/1661)

68/8861

98/G861

€8/C861

08/6161

L1196}

vL/EL6)

11/0461

89//961

GO/v961

T

A
7

!

)

MEY
https://meteodat.ch/totalisatoren.html {H\’Q /X



